
IE981−8A, 81

Colorimetric transformation  i=7
x*i =x*7 =w*7 with x = o*, l*, v*; w*7  = 0,70

rgb −> olv* olv* −> olv*71.0
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Colorimetric transformation  i=7
x*i =x*7 =w*7 with x = o*, l*, v*; w*7  = 0,70

rgb −> olv* olv* −> olv*71.0
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Colorimetric transformation  i=7
x*i =x*7 =w*7 with x = o*, l*, v*; w*7  = 0,70

rgb −> olv* olv* −> olv*71.0
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Colorimetric transformation  i=7
x*i =x*7 =w*7 with x = o*, l*, v*; w*7  = 0,70

rgb −> olv* olv* −> olv*71.0
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Colorimetric transformation  i=7
x*i =x*7 =w*7 with x = o*, l*, v*; w*7  = 0,70

rgb −> olv* olv* −> olv*71.0
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Colorimetric transformation  i=7
x*i =x*7 =w*7 with x = o*, l*, v*; w*7  = 0,70

rgb −> olv* olv* −> olv*71.0
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